Comprehensive Review #9

Topics:

Lesson 72 - Law of sines

Lesson 87 - Sum and differene identities
Lesson 90 - Double-angle identities
Lesson 96 - Tirangle area formula

1. Solve triangle ABC given that 4 = 52°, B=51°, and b = 61.

2. Solve triangle ABC given that 4 =44°, B=152° and b= 74.

3. Solve AABC given that Z/ A=58°, ZB=52°, and b = 62.
[A] £C = 70°, a = 66.72, ¢c = 7393 [B] £C = 70°, a = 5761, ¢ = 687
[C] £C = 250°, a = 5761, c = 68.7 [D] £C = 250°, a = 66.72, ¢ = 7393

4. Solve AABC giventhat L/ A=42°, /B=59°, and b=T77.
[A] £ZC = 79°,a = 98.64, ¢c = 11296 [B] ZC = 79°, a = 6011, ¢ = 88.18
[C] £C = 259°, a = 6011, ¢ = 8818 [D] £C = 259°, a = 98.64, ¢ = 112.96



10.

L,

Establish the identity sin(@ — 2wt) =sin#.

Develop the identity for cos 24 using the identity for cos(4 + B).

Simplify sin(B —gj by using the sum and difference identity. Use exact values.

cos(0 + m) forms an identity with which of the following?

[A] —sin & [B] —cos @ [C] sin@ [D] cos®

cos(@ - g) forms an identity with which of the following?

[A] siné [B] —sin & [C] cos@ [D] —cos @

Solve sin2x = cosx giventhat 0 < x <2m.

Solve tan’x = 3 giventhat 0 < x <27,



12. Show: (cosx + sin x)2 — 1 =sin2x

13. Solve 2 cos’x = 13sinx — 5 giventhat 0 < x <2m.

T Sm T 5wt Tt 1ln in Tn
A . s B 05 R % Tan C == ¥ D o T =
[Al 5 % BI 0, 5vm =5 IO 5 = b1 == 3
14. Solve sin 2x = sinx giventhat ) < x <2n.
1A 6, . s, 2F B &, 2% dx %
3 3737 373
e B 2R BRI D] -0, 25, m, 42
4> 47 4 4 4 4

15. Solve this triangle for angle 4 and find the area.

[A] 4
[C] 4

28.76°, Area = 92.65in.’ [B] 4

30°, Area = 89.98 in.’ [D] 4

28.76°, Area = 89.98 in.’
30°, Area = 92.65 in.’



16. Solve this triangle for angle 4 and find the area.

26.68°, Area = 76.17 in’

32°, Area = 8642 in. [B] 4

[A] 4
[C] 4

26.68°, Area = 8642 in. [D] 4 = 32°, Areca = 7617 in.’



